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#tinclude <stdlib.h>
#tinclude <stdio.h>
#include <string.h>

int main(int argc, char **argv) {
if (argc != 3) {
printf("USAGE: %s INPUT OUTPUT\n", argv[0]);
return 0;
)
FILE* input fopen(argv[1l], "rb");
FILE* output = fopen(argv[2], "wb");
if (!input || loutput) {
printf("Error\n");

return 0;

)

char k[] = "CENSORED";

char c, p, t = 0;

int i = 0;

while ((p = fgetc(input)) != EOF) {
c = (p+ (k[i % strlen(k)] ~ t) + i*i) & oxff;
t=p;
i++;

fputc(c, output);
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return 0;

}
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fl=open("msgeol", 'rb+")
f2=open("msgo@ol.enc", "rb+")
p=fl.read()
c=f2.read()
a=0
b=0
t=0
k="CENSORED"*
flag=""
for i in range(len(c)):
a=ord(c[i])
b=(c-i*i-(ord(k[i%len(k)])"t))&Oxff
t=b
flag+=chr(b)
print(flag)
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fl=open("msgoo1", 'rb+")
f2=open("msglol.enc", 'rb+")
p=fl.read()
c=f2.read()
p =[ ord(i) for i in p]
c =[ ord(i) for i in c]
t=0
key
for i in range(len(p)):
k=((c[i]-p[i]-i*i)~t)&exff
t=p[i]
key=key+chr (k)
print(key)
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f=open("msg@02.enc", 'rb+")
c=f.read()

c=[ord(i) for i in c]
t=0
flag=""
key="VeryLongKeyYouWillNeverGuess"
key =[ord(i) for i in key]
for i in range(len(c)):
p=(c[i]-(key[i%len(key) ] t)-i*i)&Oxff
t=p

flag+=chr(p)

print(flag)
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